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1. �IOîª�m Rn�IOÄ´ e1, . . . , en. O� ‖e1 + · · ·+ en‖.

2. � V = R[x](3)´îª�m, Ù¥SÈ´

(f |g) =
∫ 1

0

f(x)g(x)dx.

O� x��ÝÚl 1� x2�ål.

3. � V ´îª�m, u,v ∈ V . y²:

‖u+ v‖2 + ‖u− v‖2 = 2‖u‖2 + 2‖v‖2.

4. � V ´îª�m, v1, . . . ,vm ∈ V .

(i) � x = α1v1 + · · ·+ αmvm, y = β1v1 + · · ·+ βmvm. y²:

(x|y) = (α1, . . . , αm)G(v1, . . . ,vm)


β1
...

βm

 .

(ii) � e1, . . . , en ´ V ��|Ä, x ∈ V . y²: x = 0��=� (x|ei) = 0,

i = 1, . . . , n.

5. � A ∈ Mn(C). y²:

(i) A´�"Ý
��=� JA´�"Ý
.

(ii) A´�"Ý
��=� tr(Ak) = 0, k = 1, 2, . . . , n.
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